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INTERMEDIATE CERTIFICATE EXAMINATION, 1963,

MATHEMATICS (Algebra),

WEDNESDAY, f2th JUNE. --- Morning, 10 to 12.30.

e T

ALL questions to be answered.
Mathematlcal Tables may be obtained from the Superintendent.

In the case of each of the following algebraic statements, say For what value
(or values) of z the statement is true:

(1) ez —2 =
(i1) x? =

It

(ti1) =m? — 9
(1v) 2z — 1 is

223

x 3

(z + 1)@ —1);
grester than 7 and at the same time is less than 17.

(28 marks,)

Solve the following eguations:
(1) o —8ax = 273;
(11) [2*'“ + gy =, 49,
2 -2y = .
(28 marks,)
(1) Show that # = .4 satisfles the egquation z° — 5z + 2% + 8 = O,
(11) Factorise fully a® — 502 + 2q + 8.
(111 ) Pind the value of & so that the following eguation will be an identity:
2t —y® = (2 —y)® + kxylz - y).
(28 marks,)
A man buys an article for £200 and sells it 4o a dealer at a profit of & per cent. The
dealer makes a profit of 2z per cent when he selle the article for £260, Find the value
Of _3‘-
(28 marks. )
If ~‘%— = 1, prove that
1) o +1 =3,
4
(it) a® — 25 =Y,
& (28 marks,)
(1) Show that @ = 1 + 2 satisfies the equation z® — 50 — 2 = 0,
5 b :
(1) Write down the values of 3%, 16°, log 8, log 2.
2 8
2a
(tit) 1f logob = @, express 1% ena 107 in terms of b,
(30 marks, )
Write down the values of (120 — ) 2nd of (41200 — 22 ) for the following values of x;:

0, 5, 10, 15, 20, 25, 30.

1200 — x*
Draw a graph of ——2 for va
. g 120 — x K

a distance of 20 miles in 420 minutes.

lues of & from O to 30,
Solve, by means of your graph, or otherwise, the following problem: A cyclisgt travels
If he cycles at g% mlles per minute for the firat

& minutes and then completes the journ

ey at 5 miles per hour, find the value of Lo

(30 marks, )



